
§·¤æ§ ü / Unit-I

1. ÒÒ¥æÁ âæ¢çBØ·¤è ·¤æ Øé» ãñU; âÚU·¤æÚU, ÃØæÂæÚU Øæ
©Ulô» ·¤è ·¤ô§ü Öè â×SØæ °ðâè ÙãUè´ ãñU, Áô
âæ¢çBØ·¤è ·¤è âãUæØÌæ âð ¥çÏ·¤ ¥‘ÀUè ÌÚUãU âð Ù
âéÜÛææ§ü Áæ â·¤Ìè ãUôÐÓÓ §â ·¤ÍÙ ·¤è Âê‡æü ÃØæBØæ
·¤èçÁ°Ð

AE-522
B.Com. (Part - II)

Term End Examination, 2016-17

TAX PROCEDURE AND PRACTICE

Paper - I

Statistical Analysis

Time : Three Hours] [Maximum Marks : 50

ÙôÅU Ñ âÖè ÂýàÙæð´ ·ð¤ ©UîæÚU ÎèçÁ°Ð âÖè ÂýàÙæð´ ·ð¤ ¥¢·¤
â×æÙ ãñ´ UÐ

Note : Answer all questions. All questions carry equal
marks.
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This is an age of Statistics; there is no problem
in Government, business or industry, which
cannot be better tackled with the help of
Statistics.” Discuss this statement fully.

¥Íßæ / OR

çÙ`ÙçÜç¹Ì Â¢ç@ÌØô´ ×ð´ ÂýçÌ àæµÎ ·ð¤ ¥ÿæÚUô´ ·¤è
â¢BØæ ·¤æ ¥æßëçîæ Õ¢ÅUÙ ÌñØæÚU ·¤èçÁ° Ñ
‘In the beginning’ said a Persian Poet, ‘Allah
took a rose, a lily, a dove a serpent, a little
honey, a Dead sea apple and a handful of clay.
When he looked at the amalgam – it was a
woman.’
Prepare a frequency distribution of the number
of letters in a word of the following lines :
‘In the beginning’ said a Persian Poet, ‘Allah
took a rose, a lily, a dove, a serpent, a little
honey, a Dead sea apple and a handful of clay.
When he looked at the amalgam – it was a
woman.’

§·¤æ§ ü / Unit-II

2. çÙ`Ù â×¢·¤ô´ âð çß¿ÚU‡æ »é‡ææ¢·¤ ·¤è »‡æÙæ ·¤èçÁ° Ñ

¥æØ ÃØç@ÌØô´ ·¤è â¢BØæ

v®®-w®® vz
v®®-x®® xx

v®®-y®® {x

v®®-z®® }x

v®®-{®® v®®

( 2 )
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( 3 )

Find coefficients of variation from the following
data :

Income No. of persons

100-200 15

100-300 33

100-400 63

100-500 83

100-600 100

¥Íßæ / OR

çÙ`Ù ¥æ¢·¤Ç¸Uô´ âð Õæ©UÜð ·¤æ çßá×Ìæ »é‡ææ¢·¤ ™ææÌ
·¤èçÁ° Ñ

ß»ü ¥æßëçîæ

w-{ z

}-vw ~

vy-v} vy

w®-wy w®

w{-x® wz

xw-x{ ww

x}-yw vx

yy-y} vw

z®-zy {

z{-{® y
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( 4 )

Find out Bowley’s coefficient of skewness from
the following data :

Class Frequency
2-6 5
8-12 9
14-18 14
20-24 20
26-30 25
32-36 22
38-42 13
44-48 12
50-54 6
56-60 4

§·¤æ§ ü / Unit-III

3. ØçÎ Îô ÂýÌèÂ»×Ù ÚðU¹æ°¡ x + 3y – 11 = 0 ÌÍæ
2x + 2y – 10 = 0 ãñ´U ÌÍæ x ·¤æ ÂýâÚU‡æ a2x = 9 ãUæð,
Ìô x °ß¢ y ·¤æ â×æ‹ÌÚU ×æŠØ, y ·¤æ Âý×æÂ çß¿ÜÙ
ÌÍæ x °ß¢ y ·ð¤ Õè¿ âãUâ¢Õ¢Ï »é‡ææ¢·¤ ™ææÌ ·¤èçÁ°Ð

If the two regression equations are
x + 3y – 11 = 0 and 2x + 2y – 10 = 0 and
variance of x is a2x = 9, then find out arithmatic
mean of x and y, standard deviation of y and
co-relation coefficient between x and y.

¥Íßæ / OR
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çÙ`Ù âê¿Ùæ ·ð¤ ¥æÏæÚU ÂÚU ¥æØé °ß¢ çÙÚUÿæÚUÌæ ·ð¤
×ŠØ âãUâ¢Õ¢Ï »é‡ææ¢·¤ ™ææÌ ·¤èçÁ° Ñ

¥æØé ß»ü ·é¤Ü ÁÙâ¢BØæ âæÿæÚU ÁÙâ¢BØæ
(ßáü) (®®) (®®)

v®-w® vw®® vvwz

w®-x® v®®® ~wz

x®-y® }®® |y®

y®-z® z®® y|®

z®-{® wz® wx®

{®-|® vz® vy®

|®-}® z® yz

Calculate Correlation Coefficient between age
and illiteracy :

Age group Total Population Literate Population
(years) (00) (00)

10-20 1200 1125

20-30 1000 925

30-40 800 740

40-50 500 470

50-60 250 230

60-70 150 140

70-80 50 45

( 5 )
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§·¤æ§ ü / Unit-IV

4. çÙ`Ù â×¢·¤ô´ ·ð¤ çÜ° ‹ØêÙÌ× ß»ü çßçÏ mæÚUæ âÚUÜ
ÚðU¹æ ©UÂÙçÌ ·¤æ ¥æâ¢ÁÙ ·¤èçÁ° ÌÍæ ©UÂÙçÌ ×êËØ
™ææÌ ·¤èçÁ° Ñ

ß»ü ÜæÖ (G)
w®®x x}

w®®y y®
w®®z {z

w®®{ |w

w®®| {~

w®®} {®

w®®~ }|

w®v® ~z

Fit a straight line trend by the method of least
squares to the following data and find trend
value :

Year Profit (G)
2003 38
2004 40
2005 65
2006 72
2007 69
2008 60
2009 87
2010 95

¥Íßæ / OR

( 6 )
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( 7 )

ÒÒçÙÎðüàææ¢·¤ ¥æíÍ·¤ ÕñÚUô×èÅUÚU ãñUÐÓÓ §â ·¤ÍÙ ·¤è
ÃØæBØæ ·¤èçÁ° ¥õÚU çÙÎüðàææ¢·¤æð ´ ·¤è ©UÂØôç»Ìæ
ÕÌæ§°Ð

“Index number is an economic barometer.”
Comment on this statement and explain the utility
of index number.

§·¤æ§ ü / Unit-V

5. ÃØæßâæçØ·¤ ÂêßæüÙé×æÙ ·¤æ @Øæ ¥Íü ãñU? â¢ÿæðÂ ×ð´
ÃØæßâæçØ·¤ ÂêßæüÙé×æÙ ×ð´ ÂýØé@Ì ·¤è ÁæÙð ßæÜè
Âý×é¹ ÚUèçÌØô´ ·¤ô â×Ûææ§°Ð

What is meant by Business Forecasting ? Explain
briefly the main methods used in business
forecasting.

¥Íßæ / OR

°·¤ ·¤æÚU¹æÙð ×ð´ ×àæèÙ M1, M2 ÌÍæ M3 ·ý¤×àæÑ
·é¤Ü ©UˆÂæÎÙ ·¤æ x®', x®' ÌÍæ y®' ÕÙæÌè ãñ´ UÐ
§Ù·ð¤ ©UˆÂæÎÙ ×ð´ ·ý¤×àæÑ v', x' ÌÍæ w' ßSÌé°¡
¹ÚUæÕ ãUôÌè ãñ´UÐ °·¤ çÎÙ ·ð¤ ©UˆÂæÎÙ ×ð´ âð °·¤
ßSÌé Üè ÁæÌè ãñU Áô ¹ÚUæÕ ÂæØè »§üÐ §â·¤è @Øæ
ÂýæçØ·¤Ìæ ãñU ç·¤ Ñ

(a) ßãU ßSÌé ×àæèÙ M1 mæÚUæ, ×àæèÙ M2 mæÚUæ ¥Íßæ
×àæèÙ M3 mæÚUæ ÕÙæØè »§ü ãUæð?
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(b) ßãU ßSÌé ×àæèÙ M1 Øæ M3 mæÚUæ ÕÙæØè »§ü
ãUæð?

In a factory machine M1, M2 and M3
manufacture respectively 30%, 30% and 40% of
the total output. Of their output 1%, 3% and
2% are defective items. An item is drawn from
a day’s output and is find defective. What is the
probability that :

(a) It was manufactured by M1, by M2 or by
M3 ?

(b) It was manufactured by M1 or M3 ?
———

( 8 )
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